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7/29 100m |liA 3t 10.50 |&H R (2) 10.56 |PEfE  fEks 10.61 |4 £ R (3) 10. 72 |Gy Fnisk 10.78 W& VIR 10.89 |fadf 4&E (1) 10. 91 |HAHEA (3) e 10. 96421
SRS 4201 |HEES +2.1 [B&M +2.1 R +2. 1 |Eanasty +2.1 [B&M LT N +0.8 |BFRDER Stark 0.8
7/30 200m R EE 20.95 [ M&KE (1) 21.84 |V UK (3) 21.88 [#&H H (D 22.05 [FF L ¥EH (3) 22.10 | K& % (3) 22.38 |/NEFEIRER (3) 22.51 (MR IR 2T 22.58
Stark +1.3 [N L1 | +1.3 | HrH & +1.3 |HEIEHE +1.3 BT H +1.3 | AR +1.1 |B&M +1.1
7/30 400m | K& FHE Q) 50.74 (X% WP (4) 50.85 [sRH  BE} (2) 51.02 |45 K (2) 51.08 | e (2) 51.90 |&Hp 522 (2) 51.98 |8ffr  BEd (3) 52.08 BRI Ik (2) 52.29
BT H BN AR o) B JIZ T AiRdeE AR AR
7/29 800m (5% N 731 1:57.36 [BEH B4 (3) 1:59.49 | B KE (2) 1:59.96 | 5 2:00.45 |FHiE S (2) 2:01.18 |y FHsk (1) 2:01.38 | K¥k (1) 2:01.48 |EA W& (2) 2:02. 06
[i] L Ly B H NI I8 JILZITT&F A R ARV AL AL
7/300 1500m |[HEH B4 3) 3:59.63 |k FHik 4:00.91 [#BEE HIR (2) 4:03.58 |ZAKE TS (4) 4:04.37 |4 HRE (3) 4:05.89 | HS 4:06.81 [ BB (M) 4:07.88 [IUA &N (2) 4:08.61
HHE EESin= N P3SN [4SN TR -h PSS I\ e 75
7/29] 5000m |# AR (3)  15:56.73 |IUAR &N (2)  16:08.06 |fFEE EH (2)  16:29.28 |WpHH s 16:45.60 |¥A fE#k (2)  16:49.53 | K FZE 16:52.47 | FHH 5UE (2)  17:00.83 |#h& hgs (2)  17:13.54
TIREKR J\ I 5 B 7 & 77 AR o) A -h A I\ 5% 7
7/30] 1 10mH |fEA EX 15.24 |/bk A (2) 15.99 |fd0 &3} (2) 17.21 |#h BAE (1) 17.51 |5 #F— (2) 17.54 |E)Il K (1) 18.17 |feke SN (2) 18.54 |k K& (1) 18.61
(1. 067m) Stark +1.2 [k +12 | A AP +12 HE T +1.9 |NTE +1.2 | B KM +1.2 BT +1.9 |Radbm +1.9
7/29] 40 0mH KM PEE M2) 55.93 | Ik (2) 57.00 2285 HEA 57.17 |B FIE (2) 57.74 [IL[E B4 (2) 58. 78 |fEA B (2) 59.10 = HEF (2) 59.36 | A (2) 59. 65
(0. 914m) TIREKR AR o) A B I A TR AN AT
7/3003000mS C|HA i (3) 9:48.79 |FH  BIF] (2) 9:57.73 |BiA €k (2)  10:00.45 |EH & (1) 10:09.76 |FiE Bl 10:16.57 |5H fFE 10:21.49 |4 HA (2)  10:23.49 |[FEM  HEL (2)  10:41.07
- (914mm) TIREKR AR o) AR o) B 7 g el T T
7 [7/30] 4%x100m |Stark 40. 45 [FA LR 43.00 |H7E UL R 43.91 |EIESS 44,44 KN ILERE 44.53 [P HB 44,91 | BT E Ve = 45.02 |4 TRE A 45.18
R Pk B R (2) HRE R (2) HE b hREE (2) B B (3) FN KR (2) HLE B
+ RIS . e Rgese (1) FRiRy OkFe (2) W = Ky R (D) R B (3) MR K (1) HiF BK (3)
LIS VYN R T-HL (2) A HFEIRES (1) FEH AIEF] M g (1) A EF (3) IR RE (1) [ic} Sk (2)
[ S FH R (1) e #4 (2) NS N sk BTERE (2) il Z=ak (3) ks RN (2) g = (3)
7/30 Ak PR s Im90 g K& (1) Im80 [/hik S (2) In75 | K FK (2) Im75 Il BHHE (1) In70 |FHE £ (2) beicha Im65 | KFE  HEk (1) 1m65
B&M IR s} AR o) JIZILeE Aisdem e L (D AR B
7/29 Bk R 1E 4m80 | KK 4m60
ENEOS JIZLT&F
7/30 Ak s et (3) 6m98 |jiE i3 6m73 | FIE &k (2) 6mb4 |FLfh Lbi 6m63 |1 x Afcst (1) 6m58 [[HF 6m53 [ &E (1) 6md2 [JEH  HE (2) 6m41
ATIPN +0.3 [B&M -0 |NTF@E +1.2 |B&M +0.4 |kadbm +1.0 |Stark +0.8 |krldbm -0.5 &b +0.4
7/29 =Bk B A (2) 13mdl [HF &K (2) 13m40 |ELHF f&HE (1) 13m03 |EA  Ff (1) 12m89 |#HA BRIk (2) 12m78 |JIl L EZ (2) 12m62 |#AA4 #hi1= (2) 12m37 | WA E1h (6) 12m29
AR o) +0.3 | FE TR +1.8 [ Ldks +0.6 (AL R +1.2 |JILZICE +1.3 | AR LE +0.8 | TR A =0. 1 | BB RE +0.7
7/30 fied L ARE H(3) Im22 [HEH  HER (4) 8m42 |HF #EH (6) 8m15
(7.260kg) | BIEKREFH Tl R E TR RE T
7/30 LS bOp = (3) 25m55
(2.000kg) |FESRMERE
7/30 Nr~—# MR KB 24m24 V6l 12 21m53
(7.260kg) | ATRTA)-M W VEN
7/29 UK 4 I v~ 81ml0 [EH H— 56m53 [FLA {2 (3) 5Im30 [#F E  HEE (3) 47Tm56 ([ H Y (2) 46m93 |AEH AR (4) 45m38 |[fin Sk FISE 44m05 |HHF A (2) 44m04
(0.800kg) | EhEbEH FRRAAC [AIIPN B p) e B R REFH ATLETICA Al
7/30 fie Hd TP (2) 3mdl A% K% (3) 12m03 [#AA Ik (1) 1m0 [FFAF R (1) 10m68 |F1A fHC (2) 9Im20 |fEx A& (2) 9mo8 |AH  KfE (1) 8m90 |/ kg (1) 71
5 (6. 000kg) e L B Thp ) AIRUIAES AIRUIER H AR E B B AR
+ |7/30 M KIFE ~8 (2) 34ml6 |FE  KE (3) 34m00 /i mOK (2) 33m50 [HPAS ER (1) 31m39 |F 0 I (2) 30mé62 [HH HA (2) 28m34 |(LFH K (2) 27Tm70 |EH (1) 23m36
75 (1. 750kg)  |#2ildkes L PR 5T )R A IRUIER M IR [AITRN N3 AL
B 7/30| Nve— A A 3) 51m76 |k JEft (3) 50m58 | A R (2) 45m36 | HFATFE (2) 42m58 |l K I (2) 38m42 [HEA  FnE (2) 34m96 (A4 Ik (1) 33m32 [JIAR I (1) 28m83
(6. 000kg)  |f&1lidLes AL AIRUIER H AR LE Nl AAER = AIRUITE R AR )
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7/29 100m |k #K (1) 12.54 |[&H  ## (1) 12.60 |BEH  fifd (1) 12.64 | W 522 (1) 12.73 | KKF 8L (1) 12.75 | PR AR (1) 12.78 |BgHE A% (1) 12.81 |4 &ZE (1) 12.89
(148) i L e +1.9 |JIZiTrEh +1.9 |4 A S +1.9 | T Hh +1.9 | Eerh +1.1 | +1.9 |4 1am T +1.9 [degpH +1.0
7/29 100m |k K (2) 11.95 | By s (2) 11.98 | =il —#3 (2) 12.04 |BP[] Eh (@) 12,17 IR Ed (2) 12.20 |3 FHK (2) 12.21 |[ILF - # (2) 12.32 | R W3k (2) 12.34
(24F) ERMHE +0.5 |NINOS +0.5 |t +0.5 |ATE A ST +0.5 |EGALH -0.3 | A HhEH +0.5 | -0.3 Wi -0.0
7/29 100m |fhil fEE 3) 11.31 {8y SR (3) 11.44 |G #Z (3) 11.45 |8 BX (3) 11.50 |&k A L (3) 11.64 il Zak (3) 1174 |2 Bi4E (3) 11.84 k& MHE (3) 11.95
(34F) SEAE +l4 |G +1.4 | AIEEH +1.4 | AIEE P +1.4 |JI[gH -0.4 | H DWRTES -0.4 | PG+ +1.9
7/30 200m |FELE 3 ©3) 23.10 |fA {0 (3) 23.20 |FhiL ABRE (3) 23.63 [JHF S (3) 23.65 [faH Hid (3) 23.95 |#kA L (3) 24.00 | =ifi—BHE (2) 24.38 |/ HUHE (3) 24.78
RGN +0.8 |FEE +0.8 |MAEH +0.8 |BFEH -0.3 |+ +0.8 |JI[HHh +0.8 |JI[HH +11 | AR +1.1
7/30 400m A #(3) 54.71 JEH  HiE (3) 55.36 |Fi)Il K (2) 55.96 |fhiEy Bk (2) 56.60 [ HZ¢ (3) 57.81 (MK 1&E (2) 58.41 [#h¥p IR (2) 58.92 £ L £ (3) 59.22
LODESTARAC [EES T BT A L Sig Uil SrAEH LODESTARAC A R K
7/29 800m |l MK (2) 2:08.41 |JZ2IF Kl (2) 2:09.73 |HiE HESH (3) 2:13.16 |50 &= (3) 2:13.75 | B FEO (2) 2:13.92 [MJE #HZ%E (2) 2:14.84 (i B (2) 2:17.10 [JIF MEA (2) 2:18.43
I Sig il SLAEH BRI [EE +JEH [EESLE ok VY [=] v eAC
g |7/30 1500m |f&ff ZEnt (2) 4:19.02 |[AA B (3) 4:19. 73 | M A (3) 4:26.35 | i (3) 4:29. 58 |F/AE—H (3) 4:31.12 |55 iRk (3) 4:31.83 |& M A (3) 4:32.22 |J&M Kl (2) 4:33. 56
I Sig il Kk PNCL ik JNZiTE N HT AU StAEH
T 17200 3000m |fimH A 3) 9:59.09 |5 fipk (3)  10:04.48 |AREFEEENE (3)  10:10.27 |BFRT BBA (2)  10:28.14 |fédk —E (3)  10:51.26 ka4 Kl (2)  11:57.68 |FAFH KF1 (1) 14:26.73
th L AN Eleiesl +JEH HT A AR N
7/30 110mH | ¥k 3) 15.46 [&% IR (2) 15.61 |2 WHR (3) 16.00 [ #E (2) 16.83 |42 f&nt (3) 16. 88 [‘AlF A Ak (2) 17.73 [P A22 (3) 18.09 M BEA (2) 18. 24
- (0. 914m) A iRE -0.6 |A4iRAHE -0.6 | -0.6 | -0.6 |JIIHH -0.6 MR -0.6 |SZAEH -0.6 |SZAEH +0.8
7/30 Ak AL KR (3) Im70 [H#F B (3) Im60 (B[ 3R (3) Im55 [ZE WA F (2) Im55 |1 = (2) 1Im50 |fE7k I (3) Imd5 | = (3) Imd5 [JHEH  IEH (2) 1m40
NG JIHCH AR SR SR +JEH [CES G [EES:LE
7/30 AE Bk )1 1= 3 5m95 | Ak (2) 5m85 | YAt #(3) 5m82 |WEJII FJE (3) 5m80 | (LI fi (3) 5m60 | URAE (2) 5m59 |l Z=ak (3) 5m50 | AR Kb (3) 5m28
LODESTARAC 0.0 |FEGHH =0.9 |PY[EFgEAC +1.8 |AIBAEH +1.3 | AR -0.5 |k +0.2 |FEEE +0.1 |SAEH +0.5
7/29 =Bk R B (3) 11m90 {11 fiz (3) 1m74 |98 Hidk (3) 1Im73 [IE&  SAHE (2) 11m65 |HiAS|-JefEE (3) 11m23 |RA ik (3) 10m71 (778 ACHH (2) 10m69 | JEBHLALR (2) 10m24
HET +0.8 | ARTET =0.7 [JIHCH +0.7 |k +1.9 | AIRTET +1.3 | AIRTET +1L0 |t +1.9 | SIEHE +1.1
7/30 fied L% A fESR (2) 10m37 |4 FE (3) 10m28 |=#f ¥} (3) 9m84 | AL Fn (3) 9Im57 |#e & AR (3) Im48 Wi FEA (2) 9mo6 |FaA "k (2) 8m87 |FAA it (3) 8m16
(5. 000kg) SLAET +JE Al A E T AikEE T pis T K +JE
7/30 A3 WA K (2) 24m60 | =8 ¥E3F (3) 23m32 | ARAS Sk (3) 20m50 (M FEAT (2) 16m39
(1. 500kg) L AR Al A E T P
7/29) VAN Uysrn— e KKK (3) 34m90 |[LF -] 32m96 | N H(2) 26m62 |FAF EC (1) 23m24
TR B 1L B 1L ATRUIED
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7/29 100m [/NAFHIR .92 |[EH ¥4 Q) 12.35 [[UA 12.38 |&lky =g (1) 12.47 |'&  BpJhiE (3) 12.55 |#Fb A7 (3) 12.57 |fEAR P4 (2) 12.59 | EH SR (1) 12.68
MMG +1.2 | fEELE +1.2 |B&M +1.2 | B PR +12 | TEGRE +1.2 |kaidbm AN +1.2 | J\iEEE +0.9
7/30 200m N L 24.50 |REH BV (1) 25. 46 | i3 (2) 25.62 | WpJhdE (3) 25.75 |fEAR P& (2) 26. 15 (/a4 HIR (2) 26.21 |k FRTY (2) 26.21 W%y AR (2) 26. 41
MMG 10 | BERR) PR +1.0 IZawE +10 | TEGRE +1.0 | J\iEEE +1.0 BT +1.0 BRI +1.0 |EER -0.3
7/30 400m |FJII /NI (3) 1:00. 42 |# R (2) 1:00.90 [|1LIF 5 (2) 1:01.51 [ILUN HhiZE (3) 1:02. 15 [Tl &AL (3) 1:03. 07 [HJImert3E (1) 1:03.50 |SEATFET (2) 1:03.84 |REFZ 5 (1) 1:04. 40
A BT H HE A LODESTARAC pNL JIZITE AR )R
7/29 800m |RBEORD (2) 2:27.09 |EH KE (2) 2:33.12 [Hr b ZfE (2) 2:35.01 [ ACHRA (2) 2:35.57 | KE (1) 2:36.03 [ifA  dL (1) 2:36.91 VA% E{H (3) 2:37.28 |it 3y (D 2:39.09
AR AP B P B P B 7 s 1L P P oNEESY N
7/30] 1500m |/NBF ZEE (2) 4:45. 11 JEAKZ &4 (3) 4:47.66 JEFE )9 (3) 4:50.99 R BE (1) 4:56.95 | = b (1) 4:57.13 | BefE (2) 4:57.51 [[AFED E (2) 4:58. 14 [ Bk (2) 4:58. 71
N N J\ I 5 i AR N s L P B A AIRTEE
7/29] 3000m |/NBp ZEFE (2)  10:11.36 |IEAKZ LAa (3)  10:11.97 JEFE  #EJh (3)  10:34.95 BRI FEE (1) 10:49.66 (M Bk (2)  10:50.18 [|LAR  FAME (1) 10:55.08 |48 g (2)  10:55.15 |MFN FJh (2)  11:03.05
N N N AR AIRTEE J\ I 15 i N N
7/30] 1 00mH |[JEZRLEAEL (1) 14.62 |5 = (2) 14. 88 |J#h fo 3 15.48 [Hidk  #HE (2) 16.40 @) KM (1) 16.40 | AR (1) 16.93 | EH ek (2) 17.43 |48H ¥A (2) 17. 60
(0. 838m) B I +L4 | TR +1.4 |B&M +1o4 B PR +lo4 | K +1.4 JIZiTE -0.9 |kalidbm R NE PN +1.4
7/29] 400mH [[UF #(2) 1:06.76 |EHAH#HZE (1) 1:09.94 |f@J ARME (1) 1:09.97 [tk &F (2) 1:12.54 |kl & (2) 1:14.43 |50 Wb (1) 1:18.24 1LY &) (2) 1:18.31 [#F - #AnE (1) 1:18.59
I (0. 762m) R I T K 2y Aiadts T e B T
7/30] 4X100m |[FEkEfRes 50. 01 [F (L 50. 31 [LODESTAR AC 51. 13 [\ 51.51 |JIZZ{Trd 51.66 |fa b 52.71 | AR A& H 52. 73 |#2 (L% 53. 44
W #E (2) JRE e (2) EA R (2) ARz R (1) Ll ER (2 FH B (2) Frln MR (3) R EA (2)
B (1) HA B 1) Py Fh2E (3) EH &0 (1) Rid HE (3) ke (2) H it Z (3) JIX Fgn (2)
g Y (2) +a #E ) K R (2) HE O (2) W = (3) LH Ok (2) el 2w (3) WA i (1)
T [TT 3 C)) N7 ) I A 6)) AR PR (2) BIREHTY (2) e (1) g HEE (3) NAR FHZE 1)
7/30 Ak LH fHk (D Im50 |fe[#5 FAE (2) FALLIPE HOEE Q) Imd0 [SF8 Ak (2) Imd0 [faA St (1) Im35 [fafd  REE (1) 1m30
AT W s (2) AN v 1m40 TR I A TIRER AN
NE A (2) N =izl
7/29 [E A K (D 3m20 | A H KR (2) 2m80 |FEJR  BEfE (2) 2m80 |[Eiff AP (3) 2m50 |/NEF - BRAE (2) 2m50 [ JInjE i (D) 2m30
JIZ I M2 JZ IR JZ iR JIZITiE JIZITiE
7/30 A gk EH &0 (1) 5m39 AT #iz (3) 5m26 [T /N (2) 5ml3 | IR DN (3) 5m04 |FEF  —Hf (2) 4m94 |k R (D 4m87 |tk # (1) 4m84 [ = 2 A (2) 4m62
J\ IR I8 1.1 |EEIK -0.4 | HE +1.0 [ Ldbe +1.3 [ bk 0.7 |BIEKR 1.1 JIZITeE +1.2 |NF@ +0. 8
7/29 EET HEOOE (2 11ma4 [HF #i7E (3) 1m21 | EE & (1) 1iml4 |5 —AF (2) 11m09 | {F*fi% ¥ (1) 10m70 [HIF /N (2) 10m69 [ A2 (2) 10m50 [EN DEF (2) 9m97
N TIPS +1.9 |\ +1.4 [t +1.1 JIZisE +1.2 | +1.2 Rl g 101 [ e +1.8
7/30 [RI%:3 ST 12m03 |#FA E£E (1) 9m98 [Tk FERL (2) 9m56 |74k LR (1) m97 [HWIEE (1) m59 JIIA Bl (1) 6m74 | KT WE (1) 6m23 [JRA A3 (1) 4m79
(4.000kg)  |MMG v A ] B AIBTEE v A ] B v LR SAER =0 R Xiel] R Xial]
7/30 [BEEE ITEEE S (2) 35m83 [#kiae  #HE (2) 29m90 [Vl EXE (1) 28m14 [ KN #EAE (2) 27md0 TR ERE (2) 26m36 |mifE WPk (2) 25m62 [5LM KA (1) 24m90 [BkFE  FEAR (1) 21m25
(1. 000kg) Thp) R R Lkl v A ] B TR 5 AIETEE [EES -1 BT R R
7/29 SNUES drE Al 3Tm20 (%I AH (D 35m06 [khE  PEE (2) 34m74 [k AR (2) 30m83 |KEr UM (2) 30m19 (IO WA (2) 27Tm51 |EkG WER (2) 26m93 [ KA (2) 21m78
(0. 600kg)  |MMG s 5 T AW tJE BT I NN [EES T LB 1o
/30 Nr~—F (WK WH @) 36m84 [ WX (3) 35m86 [#EH JEAC (3) 3mld PEA EHI (2) 30md5 [FEA HiL (2) 24m88 [JRE Bl (2) 23m92 [JIIA b (1) 18m27 [ITHROMR D (3) 18m20
(4.000kg) | ik LR & tJE tJE e R RG] SAR=ER SIER=R tJE e
7/29 100m [fEw & (D 13.62 (B —J5 (1) 14.22 [FE &=+ Q) 14.26 & #EE (1) 14.29 [7EE K& (D) 14.33 [FHERE (D 14.35 Bl 36 (1) 14.35 [fEA FEML (D 14. 36
(14E) LODESTARAC +1.4 |PEEALT +1.4 Bl +1.4 bR +0.3 IlZirded +1.4 | BKMET +1.4 +0.9 |k +1.4
7/29 100m |[&fE B (2 13.15 [&RERT (2) 13.22 [ iR (2) 13.28 [fE  Hizk (2) 13.30 ["EEF  #ZE (2) 13.42 [mA  #HEE (2) 13.64 [k Doz (2) 13.71 [ R HAE (2) 13.75
(24F) NINOS -0.2 [IZILRg -0.2 |PE4Hh -0.2 |AiRvEH 0.2 |SEfEp +0.6 | LODESTARAC -0.2 |AiREH +2.5 |Fje 0.2
7/29 100m [fHE —fE ) 12.58 [ F &<b (3) 12.82 |R& W%k (3) 13.13 [#r A ¥ (3) 13.36 [ILN AhEE (3) 13.38 [/ =& () 13.42 [HA FEE ) 13.44 [lAR A& ) 13.65
s (34) et +1.9 | PY[EH JAC +1.9 |PEEALT +1.9 |LODESTARAC +1.9 |LODESTARAC +1.9 |ardEdh +1.9 |degk +0. 1 | g P A +0. 1
7/30 200m |fE —IE ) 26. 11 [T =<5 (3) 26.48 [ HEE (3) 27.00 [&kJF 3R (2) 27.26 |RE &k ) 27.38 [ & (3) 27.39 [ =&E () 27.42 [ = (D 27. 62
e +1.7 | DY EsAC 1.7 |ABHET +1. 7 |LODESTARAC +1.7 |t +1.7 |LODESTARAC +1.7 |SEAET +1.5 |LODESTARAC +1.5
7/29 800m |FiL EiE (3) 2:24.95 BEAKOL 0 (2) 2:25.61 | k% /IE (3) 2:28.85 |0 EP (2) 2:30. 61 |f&IF RAE (3) 2:31.07 PEAR AT (2 2:33.31 |Z% =¥ (2) 2:36.59 [T # (2) 2:44.77
Ea S4BT KT ST Pk KT KT L ke
7/30) 1500m [t 3) 5:00.61 [Xx% /INE (3) 5:02.95 [AFL Dy (1) 5:06.75 DAk ¥ (2) 5:09.36 [Jra  EP (2) 5:10. 18 |JEB Bk (2) 5:10.66 |28 = (2) 5:14.51 [Tk # (2) 5:35. 37
SrAET EES|GA SrAET KT Pk SrAET KT Pk
7/30] 100mH [BEA f&H¥E Q) 15.46 [# EI&FE ) 15.86 [ K1 & (3) 16.01 [ F2E (2) 16.76 IR Bl (3) 16.98 [l w{E (2) 17.09 [ AL HBAE 17.10 [RH FFE (2) 17.53
i (0. 762m) Bl +0.6 | SEAE +0.6 |JIZICE +0.6 | AiAPEH +0.6 IS +0. 6| LODESTARAC +1.5 [T +1.5 | AIEET +1.5
7/30 &k LV 6) 1md5 [M& HE (2) 1m40 [JI[BF  HL.L (2) F S 1m30 [ A=A # (2) 1m25
FP A SrAETh L —4E (3) FE 1m35 RS [CESCH
o OEHE (2 JIZicderh Ak i (3)
Wil HidkE (2) TR P AR HEH
¥ [7/30 A Bk KIS (2) 4m71 |3t HiE (3) 4m70 [EHIE  BEHE (2) 4mb4 [ AL fHAE (2) 4m51 [BBr Eic (3) 4md3 |11 & (3) 4m38 |TEHE A (3) 4m32
LODESTARAC -0.1 |PY[EHgeAC +2.2 | PY[EH geAC +0.9 |, +0.2 | FR0E R % —0.3 | PYEHJAC +0.6 |k +0.3
7/30 F LB i 24 (3) 10m09 ARt BRH (3) Im74 | OE (3) 9m65 |S2)I1 #ERfE (3) Im60 [BRE AW (3) 9Im59 | & IRk (3) Imdd [EEH H& (3) 9m04
(2.721kg) | NIZiCEH SRR EP ke VY [ Hh geAC LS G R JIZ IR
7729 VN Vyixe— | B EA (3) 23m69 [ Fic (3) 23m05 [HE ERF (3) 20m39 [F8 FE (1) 18m96 [kl A& (3) 10m85
AIETEH TR P W1l /AT AL




